7kt 63033 ('21. 10. 29)

]

Iz
o

o|ofEorH

2022.01. 29

o
il

12

110

Aol &

ol
0|0

1. CF

EF SH(PSF RIS 2| 7AHO| LEHE 4= QUCH

LS4 SRH(I| A AO| AfH|E|0f 2t 3

b

iloj

AHE7|2, rosacea) 22}

F

7) 2474E 0

W
el

wr

110

<J
1

IS
__0._._
o0

2. Ck

1

), HtO[2

A

PN
At

S| S0etct.

(ODT)

1D

I}0
TH0

CH

UCHE

<k

.

an



Of LtEtd &

F

A
o

ULt Ol2{et &
AL E2 TS0 HEA| =4 9

A
e

o

}.

=

, Q1), oM (i) O£ St
L

So| Lig}
g ALS

=

E|

[}

I5g, OtEL|I =Y, I|F=

{ O|E&, 2E|Z0|=d I

C A
— O
20| SFOFA| ALY

E|

=

[

1 (BI] 2M
:of

X

® 37| FE : AHZO|
H

7], O|&
2) WA

=
=

2+ Z|
[= R

co2 ty|7te| ALRO] b

(o]
AX

X

3) = : APLIF0 AFEAl A o5, U™

o
—

o

o
&0
N|r
ojnu

EA
=

ElE sk, 280 Reltl=s =€

ol 2| 9ict
r

Ct.

t

—

=
=

I

[ ]

7—|A|.

S HPA

=

=

AA]

=
=

0| FHA=Z[R] AL

=

Lt ACTH A=A S 510 HPA

4)



E|RAHZ0|S2 27| A

.

st

AlZ U AZS SA

=

—

5) 0| W= 7tset o bt
S a1 2=0 0]

0| T 210 AFRA|

Of LIEFLE

I

<0
Ko

Of

F

~O0
mr

q

ALOI|AH| Al

b

ol

Yoot 2n&[Act,

Ct.

__o._

=15t0{0}

B
i

=

~<J
ol

F2l A

=
od
oF
P0)
Jn

I.

Of Ltete

3

<0
N[0

of

3

~0

A=
E[Z0|E I

oMol S2H|EIE 221

3|

o

[}

Ct. B4 Al

AN

7| SOt S2H|ERE 20| 2H0|E 12.5 ng/kg/¥s
o

50| S7tst

o

.|

A

o
=1 N
=2

]

[

HOF otCt.

t

0o

ol
s|l=2L0f)

20
1 =
(B &

o

|

TEE[ZAHZ0|E E= HAYAA| (O, HIEEAMO|E, D|ZL|=2{|0|ER T
[e}

w 7]

o]

I.

[
—
o

=

PN

o of
F S013

od
T
(e}

IESE|DZAHZO|E A Ao AtES 1
al

t

—

23510 I

ol

o0
ok

of| CHek of= A

2
&

11
<+
ol

Tor

ofru
30



O] 2t&=(0f

“g

Ny
ol

2|1 7}

o)

JJ

IF

3) 0] 20 2= Ol =2| of

HE D=2 +FF0| F0] A 22

ISE[FOIEE 2] S22 0]

2|

E= 239f 7| X &7t

ot =

0

o

7| 1224 &|OfOF BhCt,

A2 L2E=

2}
(=]

Ot 27E Salf 0] ofof

A O
TIr

i =720 F5F

9

EEElEs A2 L5k ¢

A2
=

OF
=

Wk

6. AO0f0f| CHEE

{EH2A9| H|20| A= HM Z2E|Z0]

g %

=
S

1) 20k= A

oo

A
4 4 Qloma 7t

oL

S

S7H7|122 9|

3) 2470 0|4 18A| OJ2te| A0t

1

_z_.o

8. UHHFOAIS] 22|

FotALE SEAIZ =

Zte]
oo

o=z

tofl Of ef= HatA

5}

40| A2 =2 9JAte] U=

|
o

Ct. ol=fet B2 F4 F=9| 9|



0
I
ox
40

o

rr

1) tE22 AFESHA| F=Lt &0 S0ZUS U sUES L2Z - U282 EHE0| At

=0l SO7HA| =5 Fofstet.

2) SHYO|LL HIE £ 5 2|2 0|2le] 2HOR AIZ5HA) el
3) SlALel 2 0| WS BOIES ABSIA| UECHSS LBEOHS ABY ZS [END &3 220
2 oI5 MO LIEILE| 41202 M2 SOiS Cf7| 2o 22S 323 3ich

1) O210]9| £0] FA| &= 20| Eatatct.
= 2|A%E 2E0] ogt At LHO|LL o|%F F

2) o|AEFS el E7I0M AU THE E7[0] E&5t= A
|

4+ looz glaje] 27|10 Hae #

A ZR0A H7] - HEF ArEste 37 2R & e A=A = HdUdEIS, £



